
•	 13mm Socket

•	 Tape Measure

•	 Storage System

•	 Dacromet Hardware Pack

This storage system is specifically designed to fit the Versa Top Triple Track accessory rail. It will 
also fit the Red Dot Top Sail and 54" Club Car Precedent/Tempo & Yamaha Drive G29/Drive2 OEM 
tops which is shown on page 2. 

ITEMS INCLUDED TOOLS NEEDED

A) If top is not yet installed or you are installing on 
a E-Z-GO TXT/RXV, slide two Carriage head bolts 
down each side of the Triple Track rail about 1 foot 
back from the front as shown.

B) Install top to struts using instructions from strut 
mounting kit. Adjust bolts to desired position, then 
secure  Storage System to track using the supplied 
nut, lock washer, & flat washer. 

Overhead Canvas Storage
Installation Instructions

*Tops Sold Separately*

Part #: 03-155

13mm Socket or Wrench

If installing to Versa Triple Track Top (not installed)

(B)(B)

(A)(A)

4 - M8 x 25mm Carriage Head Bolts
4 - M8 Flat Washers
4 - M8 Lock Washers
4 - M8 Nuts



A) Place the supplied Carriage head bolts from 
the top, down into the front mounting brackets 
slots on the outer rails as shown. 

B) Hand tighten hardware to ring grommets on 
outside of Storage System, align to your desired 
position and tighten hardware.  

The Storage System will mount to the factory Club 
Car struts, remove the nuts from outside of the 
strut as shown. Fold each end around bottom of 
strut and secure to strut bolts as shown. 

 
For Yamaha tops, remove the bolts of the front 
struts and fold each end of the Storage System on 
the inside of the struts and secure with strut bolts.  

If installing to Red Dot Top Sail Top on E-Z-GO TXT or RXV

13mm Socket or Wrench

If installing to CC Precedent/Tempo or Yamaha DriveG29/Drive2 OEM tops or with Red Dot Top Sail. 

A) If Versa Triple Track Top is already installed you will 
need to temporarily remove front strut mounting bracket 
bolts from bracket. Slide the existing carriage head bolts 
down past the brackets and insert the new carriage 
bolts where the old ones were (bolts are identical). 
Reattach bracket to track. 

B) Find your desired location for the Storage System 
and secure to carriage head bolts using supplied 
hardware. 

10mm Socket & Wrench

5mm Allen Head & 13mm Wrench

(B)(B)

(A)(A)If installing to Versa Triple Track Top (on cart)

(B)(B)

(A)(A)

13mm Socket or Wrench

INSTALLATION COMPLETE


